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21- Which sentence order is correct?
1) They go swimming in the lake sometimes.
2) They go sometimes swimming in the lake.
3) They in the lake sometimes go swimming.

4) They sometimes go swimming in the lake.

22- What ...... for breakfast?
1) are you usually having 2) do you usually have
3) usually you do have 4) do usually you have
23- Why don’t you ...... to your work? You must finish it on time.
1) stick 2) install 3) charge 4) relate
24- As soon as the passengers got off the plane, they went to ...... their baggage.
1) attend 2) recharge 3) reclaim 4) recite
25- The news of the fire in that tall building was reported across the country by all national ...... .
1) online 2) message 3) media 4) address

No sound can exist without movement. Sound is made by vibration and travels in waves. The waves move
from the vibrating object in every direction, in ever-increasing circles. They disturb the molecules in the
surrounding air, so that one molecule hits the next, and so on until the vibration reaches the ear. There, the
eardrum vibrates, and the nerves transmit impulses to the brain, which gives them a meaning as sound. If
the source of sound vibrates in a vacuum, no sound can be heard. This is because there is no surrounding
material (i.e. molecules) to send the sound to the ears. The speed of sound is changed by the material used

to send it. That is to say, it travels slowest in the air, faster in a liquid and fastest in a solid.

26- The vacuum has no surrounding material to let the sound ...... :
1) change 2) disturb
3) travel 4) vibrate
27- What does “There” in line 3 refer to?
1) In the solid 2) In the car
3) In the liquid 4) In the surrounding air
28- What gives meaning to sound?
1) The wave circles 2) The disturbed molecules
3) The speed of sound 4) The brain work
29- According to the passage, the speed of sound ...... .
1) changes depending on the material 2) is the same in every material

3) in a gas is faster than in a liquid 4) depends on the speed of vibration



30- The phrase “That is to say” can be replaced by ...... .
1) clearly 2) or more exactly 3) normally 4) for the future
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